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Instructions for the Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt any FOUR questions.

3. All questions carry equal marks.

4. Answers may be written either in ENGLISH or HINDI; but the same medium
should be used throughout the paper.
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[Question 1]

Answer the following: (5+5+8.75)
fArIfaflad & 3R afFT |

i). Difference between Sentence and Proposition.
arerd 3R dehaterd & 37aT Tase Hifad|

if). How Deductive arguments are different from Inductive argument? Explain.
HTHACHS [AAAATCHS JiFadl @ G o= 82 fqaor o |




iii). Truth/falsity of a proposition does not always decide the validity/invalidity of an
argument. Justify.

cTehdTer ShT HeT /3T JieFc chl LT/ TAIAT hY GHAT TR gt s | T
HifoT |

[Question 2]

a). Explain traditional square of opposition. (5.75)

RERETT faRer et it earear HIifa |

b). Do as suggested:
fdermear fRfedr |

i). Some video games are not violent.(Obversion) (2)
o AT N fgaqeh w81 & | (Ffctacter)
i). All sugar free cakes are things pleasing to the palate.(Conversion) (2)

Gl <ol FHercl Sheh T BT W1 ATl TEU & |(TRacHeT)

iii). Some universities are intellectual gardens.(Contraposition) (3)

Fo favafacarery digfte seam & @faaiade)

b). If “No warriors are cowards” is true, what can be inferred about the truth and
falsity of the following: (6)

Ife; “oh1S off AT HRT LT ¢ I” G & ,al A [T aT¢ erateral & Hod! & IR 3 r

3T ST ST HehelT 8

i) Some warriors are not cowards.

SO AU HRR L ¢ |
i) All warriors are cowards.

T Aeer HRTE |

i) Some cowards are warriors.

S HIIT AT 6T & |



[Question 3]

a) Translate the following propositions into standard form categorical propositions:
(Any four)

frfaf@a daaTeai #F 3d% ATdS 3SR H Jeoll (F1E TR (4)

i) None but brave are winners.
9T & 3TeTdl 3R IS TIielr 78T Bl & |
i) Every day brings new hope.
X f&eT 18 371G oIt 3T &
iii) Only citizens can vote.
hd ol SARTR & AdSleT Y Thd & |
iv) Many mathematicians are philosophers.
&g IO gIAfeieh o |
v) A few flowers are fragrant.
A3 & Qo G 8 8
vi) Almost all were present in the inauguration ceremony.

3GHTC HARIE H STaeT FefY 39eyd &

b) Reduce the following syllogism into its standard form indicating its mood & figure;
and check its validity using 6 rules: (6+2.75)

fArfafed =aragfea @I AT TR A TefaT TUT 3§ $1d T4 3MThid aard, AR 6
AT garT gaehr derdar i S Y

Some sensitive people are music lovers because some sensitive people are generous
and some generous people are music lovers.

& HdeeTelTel olter HIT 9T B § Fifeh o FagaNer &9 3eR 8d 8 3R $& 3eR
ofaT FafTe G B B

c) Test the validity of the following categorical syllogisms using Venn diagram
technique. Do any two. (6)

frfaf@d & & fredt & FarrgfFaal & derar /3rdear &1 aReTor 3 d@rfaT gan
o |
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[ Question 4]
a) Symbolize the following. Do any five. (2x5=10)

fFAfa@d 1 ufadhieor Y | HIg 9fa H

i). It is not the case that if you eat a lot of salads, then you will get a lot of
vitamins. (S,M)
@ +AET § T Ffer 39 sgeT e Fere @id €, A 39 5§ AR AT
fAelar|
i). Unless we speed up, we cannot catch the flight. (S,F)
9 doh §H 1T 8T hd, d dh & §dTS SIgTel el Uhs gy |

iii). I like litchi but mango is my favourite fruit. (L,M)

ST oIrdl TG § olfeheT 3T FT THEIET Bl §

iv). Not both Milan and Jay wear braces on their teeth. (M,J)

e 3R ST g1t 379 gTar X SfAeT A8 ggeTa &1

v). Her painting is valuable, and either she can keep it, or sell it for a lot of
money. (P, K, M)
3qeh! Ufeer Hegar g, 3R a1 Al 98 38 W Hehdll ¢, T g peiegdiepe e o

TR B
vi). Either Calcutta is known for its cultural heritage or Mumbai has its enigmatic
history.
(C. M)
T AN Shofehell 3T FIEhicieh [T o foIT ST STl & 9T HSS ol 391 AfcigTiaen

sfder e &

b) Check the validity of the given arguments by Truth table method. (Any one)

T TEe g T SErAn3ratar Fegar Rl [ garT HeiRa w (18 ) -
(8.75)



). (~pv~q)or
(~q.r1)
S(pvr)

ii). (po>-~r).~q
pv-~q
S (pvr)

[Question 5]

a) Check the validity using shorter truth table method. (Any one) (6.75)
TR FeIdT UM S@RT AT/ Y ST Y | (RIS TH)

i) ~p=2q
q or

L ~rD~p
i) ~pVvq
~qVr
LpVr

b) Use truth table method to determine the following statement forms as tautology,
self- contradictory or contingent. (6+6)

fAFafaf@d Fuat S cgdar arof fafer garr ST &t & I8 dcasr, ey ar sarardy
g

) [pPD2a]D[(~p>q).(q>p)
i) [(pP2g)D(q.N] =(p>~0q)

[Question 6]

a) Explain any two informal fallacies giving examples:  (7.5%x2=15)

F1E QY AR ThersT FT gofe H |

i) Argument Ad Hominen
AFIRF FiFd

i) Fallacy of composition
HIE T

iii) Fallacy of Irrelevant conclusion



HEIT forsehsy
iv) False Cause.
fFrear sRoT g

c) Distinguish between formal and informal fallacies with examples.  (3.75)

3iTeRe 3R 3taaTRe aFest & 3eeor afed 3aR Tase HfS |



